
Mesure d’un Rectangle (C)

Calculez les mesures manquantes pour chaque rectangle.
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P = 56,52 mm

A = 197,496 mm2

1.

?

?

P = 123,62 nm

A = 767,8398 nm2

2.
?

?

P = 150,6 yd

A = 1417,4 yd2

3.

?

?

P = 176 m

A = 1827,84 m2

4.

?

?

P = 102,9 km

A = 594,125 km2

5.

?

?

P = 89,3 cm

A = 498,075 cm2

6.
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Mesure d’un Rectangle (C) Réponses

Calculez les mesures manquantes pour chaque rectangle.
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15,6 mm

P = 56,52 mm

A = 197,496 mm2
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44,59 nm

P = 123,62 nm

A = 767,8398 nm2
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37,30 yd

P = 150,6 yd

A = 1417,4 yd2

3.
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54,40 m

P = 176 m

A = 1827,84 m2

4.
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k
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33,95 km

P = 102,9 km

A = 594,125 km2

5.
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22,90 cm

P = 89,3 cm

A = 498,075 cm2

6.

MathsLibres.com


